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For it is effective by thought alone — AR mawe AW

OVERVIEW

The X ) maintains that we cannot derive w172 or PWYTR from 717N
(concerning Mm°%w) because nmn is different since it is effective even
7awnna. Our MooIN maintains that even if there would be no T2°% of IR¥™
nnm, we would still be able to derive mm*%w by 1w R from a0 and
Tw7a together.
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However mmow by 121799 could have been derived from 772770 and from

P92 together even without the wp i1 of 7N m aRY™ -
— 9991 N1 NNAa Yya Y 19V PYITND NI N9 20T

For if you would challenge; ‘there is mm>w by w193 because it is 5''va

as opposed to 17, we would reply that mmHw by 72190 proves that 5"ya is

not a requirement for mn>5w. And if you will challenge that the reason -
— 1999 PV NAYNNI NIY? 1OV NMIIND NN

there is mm5w by mm19n is, since it is effective mawnma (as opposed to
PWITP), we can answer 31 P!

mooIn responds to the anticipated question; since we can derive mmow by PR from
7YY 717N, then why is there a need for the wp>i of 7N ARYM:

6. mIa7 ARWY TRUTIRT TPo0R SR 7T KD NN IRINT RWIDITR 110
However the 7710 could not have refrained from teaching us the w» 7 of
75 aRe for (even though it is not necessary to teach us Mm*%w by PwI7TP,
nevertheless) it is necessary for other nw=7.’

SUMMARY

! We begin by deriving 1w17p from 1w through a 13°%» 7n, and then even though we can reject it, the
rejection can be refuted as NN continues.

? There is no 2"v2 by 77 as already mentioned in the previous 7 "7 MdoW, and nevertheless MMYY is
effective by ..

3 pwra obviously cannot be effective through mawn» alone and nevertheless there is NM9w by Pwia; the
same applies to 7WTp.

* We then have the regular follow through of a mws 7%, namely 212w MW 77 77 NI 77 MK XY is that
they are effective through the principal and effective through a m°5w; the same applies to PL17p.

3 This is amended to read p>nw.

® We derive q0w w17p from 103 IRXM and other MwA1T.

” Once the wp i is necessary for the other mwA7, we apply it to mmow as well (since 7¥Mn? wWpon PR), and
therefore the X713 does not mention the MW 7X, only the wpr.
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The individual M2 of w1772 and 72170 (over W17°R) do not apply to each
other, therefore PY17°pP can be derived from a 7% 1in of the two of them.

THINKING IT OVER

nooIN maintains that we can derive M oW by Pw7p through a mwi 7% from
721M PYIa. Seemingly we can refute this Mwn 7¥; that by mm Pwia
there is no assent needed from the affected party (the woman does not need
to consent to the 7217°) and obviously there is no consent from the produce
which is tithed), however by 7 7°P we require assent from the woman who
1s becoming nwTIPN!
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